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Version 1 — green paper, “Left”

A 300-liter tank contains 100 liters of fresh water. A brine solution containing 2 g of salt per liter enters
the tank at 3 liters per minute, while the well-mixed solution is drained off at 1 liter per minute. How
many grams of salt are in the tank at the moment when the tank fills completely?

Let x = grams of salt in the tank after r minutes (I'll actually give them this)
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Version 2 — green paper, “Right”
A 300-liter tank contains 150 liters of fresh water. A brine solution containing 2 g of salt per liter enters
the tank at 3 liters per minute, while the well-mixed solution is drained off at 1 liter per minute. How

many grams of salt are in the tank at the moment when the tank fills completely?

Let x = grams of salt in the tank after  minutes (I'll actually give them this) +1 point
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Version 3 — ivory paper, “Left”

A 400-liter tank contains 100 liters of fresh water. A brine solution containing 2 g of salt per liter enters
the tank at 3 liters per minute, while the well-mixed solution is drained off at 1 liter per minute. How
many grams of salt are in the tank at the moment when the tank fills completely?

Let x = grams of salt in the tank after r minutes (I'll actually give them this) +1 point
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Version 4 — ivory paper, “Right”

A 400-liter tank contains 150 liters of fresh water. A brine solution containing 2 g of salt per liter enters
the tank at 3 liters per minute, while the well-mixed solution is drained off at 1 liter per minute. How

many grams of salt are in the tank at the moment when the tank fills completely?
Let x = grams of salt in the tank after t minutes (I'll actually give them this)
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